
30 Lecture - ENG101

Important Mcqs

1. What is the purpose of the topic sentence in a paragraph?
a) To introduce the topic of the paragraph
b) To provide evidence for the argument of the paragraph
c) To summarize the paragraph
d) To conclude the paragraph
Answer: a) To introduce the topic of the paragraph

2. Which of the following is not a structural part of a paragraph?
a) Topic sentence
b) Supporting details
c) Concluding sentence
d) Thesis statement
Answer: d) Thesis statement

3. Which of the following is not a function of supporting details in a paragraph?
a) To provide evidence for the topic sentence
b) To explain the topic sentence
c) To introduce a new topic
d) To persuade the reader
Answer: c) To introduce a new topic

4. Which of the following is a transitional word or phrase that can be used to show addition 
in a paragraph?
a) However
b) Furthermore
c) Therefore
d) In contrast
Answer: b) Furthermore

5. Which of the following is a transitional word or phrase that can be used to show contrast 
in a paragraph?
a) Moreover
b) Nevertheless
c) Consequently
d) In addition
Answer: b) Nevertheless



6. Which of the following is a transitional word or phrase that can be used to show time 
sequence in a paragraph?
a) Accordingly
b) However
c) Meanwhile
d) Therefore
Answer: c) Meanwhile

7. Which of the following is a transitional word or phrase that can be used to show cause 
and effect in a paragraph?
a) Likewise
b) Consequently
c) In addition
d) In contrast
Answer: b) Consequently

8. What is the purpose of the concluding sentence in a paragraph?
a) To introduce a new topic
b) To summarize the paragraph
c) To provide evidence for the argument
d) To persuade the reader
Answer: b) To summarize the paragraph

9. Which of the following is not a type of paragraph structure?
a) Chronological order
b) Spatial order
c) Alphabetical order
d) Order of importance
Answer: c) Alphabetical order

10. Which of the following is not an example of a signal phrase that can be used to introduce 
a quote in a paragraph?
a) According to
b) In addition
c) As stated by
d) Smith said
Answer: b) In addition


